					and book 2022, 7 th e	
	Compulsor	y Element	S		Level:	1
Competition:	Inclusive Skating World Ch	ampionships - Londo	on 2024		•	
Skater:	Jonathan Clutterbuck	Sex:	Gentleman		<u> </u>	TM
Age January 1st:	37	Age category:	Senior			
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
	-		IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 1						
1. Forward march (10 me	tres)		0.4	0.133	2.7	0.359
2. Backward march (10 m	etres)		0.4	0.133	2.5	0.333
3. 1 foot forward snowplo	w stop (L or R)		0.4	0.133	2.2	0.293
-						
Total Technical Elemen	its		Total judges so	ore for elements	6	0.985
			Factor	WPI	WPI incl age	
Impairment Compensa	tion (1,4 x WPI)		1.4	55.20%	55.20%	0.773
Deductions						0.00
		Т	otal Scor	e for Perf	ormance	1.76

				sased on Technical Ha	,	
	Compulse	ory Elements	S		Level:	2
Competition:	Inclusive Skating World	d Championships - Londo	on 2024		•	
Skater:	Rebecca Davies	Sex:	Lady			тм
Age January 1st:	33	Age category:	Senior			
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Visual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
					Grade of	Mark awarded
			IJS Base	Technical	Execution	
Elements				For Officia	al Use Only	
Level 2						
	using stroking motion to a					
	of the skating area where the	he skater performs a				
forward to backward	two-foot turn. ard using stroking motion to	a point approximately	0.5	0.167	3.1	0.518
	of the skating area where t					
 two-thirds the length backward to forward to 	5	ine skater periorns a	0.5	0.167	2.1	0.351
The skater skates for	ward "using stroking motion	n" to the end of the rink	0.0	0.107	2.1	0.001
 where the skater perf 			0.5	0.167	2.8	0.468
4. Forward one foot glid	e for distance of 10 metres	s (L and R).	0.5	0.167	3	0.501
Total Technical Eleme	ents		Total judges sc	ore for elements	5	1.838
			Factor	WPI	WPI incl age	
Impairment Compens	ation (2,75 x WPI)		2.75	64.00%	64.00%	1.760
Deductions						0.00
		Т	otal Score	e for Perf	ormance	3.60

						andbook 2022, 7th e	
	C	compuls	ory Elements	S		Level:	3
Competition:	Inclus	ive Skating Wo	ld Championships - Londo	n 2024		•	
Skater:	Oliver	Snook	Sex:	Gentleman			TM
Age January 1st:	19		Age category:	Senior			
Club:			Country:	England, UK		INCLU	
Paralympic Class	: Intelle	ectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice	9		-	-	JIAI	
				IJS Base	Technical	Grade of Execution	Mark awarded
Elements					For Officia	al Use Only	
Level 3							
1. 4 consecutive	forward outside	edges (L + R, a	ll edges on a semi circles)	0.5	0.167	4.1	0.685
2. 4 consecutive	forward inside e	dges (L + R, all	edges on a semi circles)	0.5	0.167	3.8	0.635
3. metre)		, ,	ges on one foot for 1	0.5	0.167	3.8	0.635
4. Forward inside extended)	open Mohawk (L + R, edges fo	r 1 metre with free leg	0.5	0.167	3.7	0.618
Total Technical	Elements			Total iudges sc	ore for elements	5	2.573
				Factor	WPI	WPI incl age	
Impairment Corr	pensation (3)	x WPI)		3	20.00%	20.00%	0.600
Deductions	-					•	0.00
			T	otal Scor	e for Perf	ormance	3.17

					ased on Technical Ha	anabook 2022, 7 th c	a. apaata 17.1.2025
		Compuls	sory Elements	S		Level:	3
Co	npetition:	Inclusive Skating Wo	orld Championships - Londo	on 2024		•	
Ska	ater:	Callum Mills	Sex:	Gentleman			TM
Age	e January 1st:	25	Age category:	Senior			
Clu	b:		Country:	England, UK		INCLU	SIVE
Pai	alympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Su	oport needed:	Off-ice				JIAI	
				IJS Base	Technical	Grade of Execution	Mark awarded
Ele	ements				For Officia	al Use Only	
Lev	vel 3						
1.	4 consecutive forward	l outside edges (L + R, a	all edges on a semi circles)	0.5	0.167	2.8	0.468
2.	4 consecutive forward	l inside edges (L + R, al	l edges on a semi circles)	0.5	0.167	2.8	0.468
3.	metre)	foot three-turn (L + R, e		0.5	0.167	2.9	0.484
	Forward inside open I extended)	Mohawk (L + R, edges f	or 1 metre with free leg	0.5	0.167	2.5	0.418
То	tal Technical Eleme	nts		Total iudges so	ore for elements	5	1.838
				Factor	WPI	WPI incl age	
Im	pairment Compensati	ation (3 x WPI)		3	53.00%	53.00%	1.590
	ductions	· /					0.00
			Т	otal Scor	e for Perf	ormance	3.43

				sased on Technical H		
	Compulso	ory Elements	S		Level:	3
Competition:	Inclusive Skating World	Championships - Londo	on 2024		•	
Skater:	Neveah Howland	Sex:	Lady			TM
Age January 1st:	12	Age category:	Novice			
Club:		Country:	England, UK		INCLU	SIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 3						
1. 4 consecutive forward	d outside edges (L + R, all e	dges on a semi circles)	0.5	0.167	3.9	0.651
	d inside edges (L + R, all ed		0.5	0.167	3.85	0.643
3. metre)	foot three-turn (L + R, edge		0.5	0.167	2.9	0.484
4. Forward inside open extended)	Mohawk (L + R, edges for 1	metre with free leg	0.5	0.167	3.1	0.518
Total Technical Eleme	ents		Total judges so	ore for element	6	2.296
			Factor	WPI	WPI incl age	
Impairment Compens	ation (3 x WPI)		3	20.00%	20.00%	0.600
Deductions						0.00
		Т	otal Scor	e for Perf	ormance	2.90

		_		sased on rechnical H	,	
	Compuls	ory Element	S		Level:	4
Competition:	Inclusive Skating Wo	rld Championships - Londo	on 2024		•	
Skater:	Steve Wood	Sex:	Gentleman		<u>ר</u>	ТМ
Age January 1st:	48	Age category:	Master			
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 4						
1. 4 Consecutive backw	ard outside edges (L and	d R on semi-circles).	0.5	0.167	3.85	0.643
2. 4 Consecutive backw			0.5	0.167	3.75	0.626
Mohawk Step: Forwa 3. step (L and R). See		awk, backward crossover				
diagram		-	0.5	0.167	4	0.668
4. Waltz three step sequences detailed description a	uence (L and R). See Tee and diagram	chnical handbook for	0.5	0.167	3.75	0.626
Total Technical Eleme	nto	_	Total judges of	ore for elements		2.563
	ants		Factor	WPI	WPI incl age	2.505
Impairment Compens	ation (4 x WPI)		4			0.504
Deductions			'	0.0070	.2.3070	0.00
		Т	otal Scor	e for Perf	ormance	3.07

				sased on rechnical H	,	
	Compulso	ory Element	S		Level:	4
Competition:	Inclusive Skating World	Championships - Londo	on 2024		•	
Skater:	Nicole Copithome	Sex:	Lady			ТМ
Age January 1st:	51	Age category:	Master		<u>ר</u>	
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 4						
1. 4 Consecutive backw	ard outside edges (L and F	R on semi-circles).	0.5	0.167	3.7	0.618
	ard inside edges (L and R		0.5	0.167	3.6	0.601
	rd crossover, inside Mohaw					
diagram	Technical handbook for det		0.5	0.167	3.5	0.585
4. Waltz three step sequ	uence (L and R). See Tech and diagram	nical handbook for	0.5	0.167	3.3	0.551
				•		
Total Technical Eleme	ents		Total judges so	ore for elements		2.355
			Factor	WPI	WPI incl age	
Impairment Compens	ation (4 x WPI)		4	32.00%	39.48%	
Deductions						0.00
		Т	otal Scor	e for Perf	ormance	3.93

					andbook 2022, 7th e	
	Compuls	ory Element	S		Level:	4
Competition:	Inclusive Skating Wor	ld Championships - Londo	on 2024		•	
Skater:	Meg McFarlane	Sex:	Lady			TM
Age January 1st:	21	Age category:	Senior		<u>ا</u>	
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	I Use Only	
Level 4						
1. 4 Consecutive backwa	ard outside edges (L and	R on semi-circles).	0.5	0.167	3	0.501
2. 4 Consecutive backwa			0.5	0.167	2.9	0.484
Mohawk Step: Forwar 3. step (L and R). See 7	rd crossover, inside Moha Fechnical handbook for d					
diagram		-	0.5	0.167	0.7	0.117
4. Waltz three step sequ	ience (L and R). See Teo nd diagram	hnical handbook for	0.5	0.167	1.8	0.301
Total Technical Eleme	nts			ore for elements		1.403
			Factor	WPI	WPI incl age	
Impairment Compensa	ation (4 x WPI)		4	54.00%	54.00%	
Deductions						0.00
		Т	otal Scor	e for Perf	ormance	3.56

	Compulsor			sased on reclinical H	,	
	Compulsor	y Element	5		Level:	5
Competition:	Inclusive Skating World C	hampionships - Londo	on 2024		•	
Skater:	Emily Poulton-Smyth	Sex:	Lady			тм
Age January 1st:	19	Age category:	Senior			
Club:		Country:	England, UK		INCLU	SIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JAAI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 5						
1. Right Change of Edge detailed description and	three turn Step. See Techn d diagram	ical handbook for	0.5	0.167	4.7	0.785
Left Change of Edge t	hree turn Step. See Technic	al handbook for				
2. detailed description an			0.5	0.167	4.8	0.802
	ee inside mohawk repeat on description and diagram	circle. See Technical	0.5	0.167	3.5	0.585
	e inside mohawk repeat on c	ircle. See Technical				
• handbook for detailed	description and diagram		0.5	0.167	3.5	0.585
Total Technical Elemer	its		Total judges so	ore for elements	6	2.757
			Factor	WPI	WPI incl age	
Impairment Compensa	tion (4,5 x WPI)		4.5	5.00%	5.00%	
Deductions						0.00
		Т	otal Scor	e for Perf	ormance	2.98

	Compulson	, Elomont			Level:	6
	Compulsory	/			Level:	0
Competition:	Inclusive Skating World Cha	ampionships - Londo	on 2024		•	
Skater:	Juliana Sweeney-Baird	Sex:	Lady			IM
Age January 1st:	20	Age category:	Senior		<u>ר</u>	
Club:		Country:	Scotland, UK		INCLU	
Paralympic Class:	Visual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIAI	
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 6						
1. Forward Double Three description and diagra	e Step. See Technical handbo am.	ok for detailed	0.5	0.167	4.9	0.818
Backward Double Thr	ee Step. See Technical handb	ook for detailed			-	
 description and diagram 			0.5	0.167	5.3	0.885
3. Outside Bracket Step. and diagram.	. See Technical handbook for	detailed description	0.5	0.167	4.7	0.785
4. Inside Bracket Step. S and diagram.	See Technical handbook for de	etailed description	0.5	0.167	4.8	0.802
Total Technical Eleme	nte		Total judges so	ore for elements		3.290
	1113		Factor	WPI	WPI incl age	5.230
Impairment Compensa	ation (5 x WPI)		5	63.00%	63.00%	
Deductions						0.00
		Т	otal Scor	e for Perf	ormance	6.44

											Based on Te	echnical Handbool	< 2023, 8th ed. upo	datd 24.7.2023
		Cor	npulsory Fi	gures					Level:	7		ic	тм	
Com	petition:	Inclusive Skating World Ch												
Ska		Meg McFarlane	Sex:	Lady		Paralympi	c Class:	Intellectu	Jal					
Age	January 1st:	21	Age category:	Senior		Facilitatio	ı:	Indepen	dent			INCLUS	SIVE	
Club):		Country:	England, UK		Support ne	eded:	Off-ice				SKATI	NG	
		•					Technical				Symmetry	Cleanness of	Ease of	
				Chose 3 figures			value				and	edge and	movement	Mark
				to be performed	IJS Base	Technical	chosen	Circle		Tracing	Geometry	turns	and Posture	awarded
-	ments Permit	ted		Enter Y					For	Official U	lse Only			
-	el 7, choose 3			Skater to fill in		•								
_		Eight, repeat 3 times on ea		Y	3		1	4	4	4.5	4.2	3.8	1	21.500
2.		Eight, repeat 3 times on each	h foot	Y	3		1	3.9	3.6	4.3	4.2	4	0.7	20.700
	Back Outside Ei	0			4.5	-	0							0.000
_	Back Inside Eigh				4.5	_	0							0.000
_	· · ·	e of Edge, (Right Foot or Lef	,		4.5	-	0							0.000
		ge of Edge(Right Foot or Le	ft)		6		0							0.000
_		ot Eight (Right Foot or Left)			6	2	0							0.000
-		Foot Eight (Right Foot or Lef	7		7.5	_	0							0.000
		Three to Back Inside Three	<u>, , , , , , , , , , , , , , , , , , , </u>		6	2	0							0.000
10.		Three to Back Outside Three Change of Edge and FI Th			6	2	0							0.000
11.		e and BI Three (Right Foot o			9	3	0							0.000
		Change of Edge and FO Thr			3	5	0							0.000
12.		e and BO Three (Right Foot			9	3	0							0.000
13.	Backward Outsid	de Change of Edge and BI 1	Three to Forward											
13.	Outside Change	e of Edge and FI Three (Righ Change of Edge and BO T	nt Foot or Left)		10.5	3.5	0							0.000
14.		e Change of Edge and BO T e and FO Three (Right Foot o			10.5	3.5	0							0.000
15.	Forward Outside		or Leit)		10.5		0							0.000
16.	Forward Inside				10.5		0							0.000
		de Double threes			10.5		0							0.000
	Backward Inside				12		0							0.000
-		utside Change of Edge and	FI Double Three to		12	4	0							0.000
19.		of Edge and FO Double Three			12	4	0							0.000
20.	Left Forward Ou	tside Change of Edge and F	I Double Three to											
20.		ange of Edge and FO Double			12	4	0							0.000
21.		Outside Change of Edge an			15	5	~							0.000
		of Edge and BO Double Thr Dutside Change of Edge and			15	5	0							0.000
22.		e of Edge and BO DoubleTh			15	5	0							0.000
23.	0 0	Paragraph Threes (Right Fo			18		0							0.000
_		de Paragraph Threes (Right	,		21		0							0.000
		Paragraph Double Threes (24		0							0.000
26			<u> </u>											
		de Paragraph Double Threes			27	-	0							0.000
_		Brackets (Right Foot or Lef	t)		12		0							0.000
-		Brackets (Right Foot or Left)			12		0							0.000
		e Change Brackets (Right Fo	,		18	-	0							0.000
		Change Brackets (Right Foot	/		18	-	0							0.000
		e Paragraph Brackets (Right	,		24	-	0							0.000
32.	Backward Outsid	de Paragraph Brackets (Righ	nt Foot or Left)		27	9	0							0.000

42.		S	um choser	technical:	2						
	Threes to a Centre Waltz Eight		12	4	0					0.000 0.000	
	Backward Paragraph Loops		27	9	0					0.000	
	Forward Paragraph Loops		24	8	0					0.000	
	Backward Change Loops Outside and Right and Left		21	7	0					0.000	
	Forward Change Loops Outside and Right and Left		18	6	0					0.000	
	Forward Loops Outside and Inside and Right and Left Backward Loops Outside and Inside and Right and Left		12 15	4	0					0.000 0.000	
	Rockers Outside and Inside and Right and Left		21	7	0					0.000	
33.	Counters Outside and Inside and Right and Left		18	6	0					0.000	

Based on Technical Handbook 2023, 8th ed. updatd 24.7.2023																
	Compulsory Figures															
Con	petition:	Inclusive Skating World Cha														
Skater:		Juliana Sweeney-Baird	Sex:	Lady		Paralympi	c Class:	Visual								
Age January 1st:		20	Age category:	Senior			Facilitation:		Independent			INCLUSIVE				
Club:			Country:	Scotland, UK			Support needed:		Off-ice			SKATING				
			-				Technical				Symmetry	Cleanness of	Ease of			
				Chose 3 figures			value				and	edge and	movement	Mark		
				to be performed	IJS Base	Technical	chosen	Circle	Centre	Tracing	Geometry	turns	and Posture	awarded		
Elements Permitted			Enter Y					For	Official U	lse Only						
Lev	Level 7, choose 3			Skater to fill in												
1.	Forward Outside Eight, repeat 3 times on each foot		Y	3		1	6.5	6.8	6.3	6	6.6	7	39.200			
2.	Forward Inside I	Eight, repeat 3 times on each	foot		3		0							0.000		
3.	Back Outside E	ack Outside Eight			4.5	-	0							0.000		
	0	ack Inside Eight			4.5	-	0							0.000		
	Forward Change of Edge, (Right Foot or Left)			4.5	-	0							0.000			
	Backward Change of Edge(Right Foot or Left)			6		0							0.000			
_	Forward One Foot Eight (Right Foot or Left)			6		0					ļ		0.000			
	Backward One Foot Eight (Right Foot or Left)				7.5	2.5	0							0.000		
_	Forward Outside Three to Back Inside Three (Right Foot or Left)				6		0							0.000		
10.	Forward Inside Three to Back Outside Three (Right Foot or Left)				6	2	0							0.000		
11.	Forward Outside Change of Edge and FI Three to Back Outside				9	3	0							0.000		
_	Change of Edge and BI Three (Right Foot or Left) Forward Inside Change of Edge and FO Three to Back Inside			9	3	0							0.000			
12.	2. Change of Edge and BO Three (Right Foot or Left)			9	3	0							0.000			
4.2	Backward Outside Change of Edge and BI Three to Forward															
13.	Outside Change	e of Edge and FI Three (Right	Foot or Left)		10.5	3.5	0							0.000		
14.		e Change of Edge and BO Th			10 5	2.5	0							0.000		
	<u> </u>	hange of Edge and FO Three (Right Foot or Left)		Y	10.5 10.5	3.5 3.5	3.5	6.3	6.4	6.1	6	5.6	6.4	0.000 128.800		
15. 16.		prward Outside Double threes		Ŷ	10.5	3.5	3.5	6.3	6.4	0.1	6	5.0	0.4	0.000		
		orward Inside Double threes			10.5	3.5	0							0.000		
		ackward Outside Double threes ackward Inside Double threes			12	-	0							0.000		
		Dutside Change of Edge and I	El Double Three to		12	4	0							0.000		
19.		of Edge and FO Double Three			12	4	0							0.000		
20	Left Forward Ou	itside Change of Edge and Fl	Double Three to													
20.		ange of Edge and FO Double			12	4	0							0.000		
21.	0	Outside Change of Edge and			4.5	-	0							0.000		
		of Edge and BO Double Thre Dutside Change of Edge and			15	5	0		-					0.000		
22.		e of Edge and BO DoubleThree			15	5	0							0.000		
23.	0 0	e Paragraph Threes (Right For			18	-	0					1		0.000		
_		de Paragraph Threes (Right F	,		21	7	0							0.000		
		e Paragraph Double Threes (F	,		24	8	0					1		0.000		
			5 ·····			Ű								5.000		
26.		de Paragraph Double Threes	· · · /		27		0							0.000		
27.	Forward Outside	e Brackets (Right Foot or Left)			12		0							0.000		
28.	Forward Inside I	Brackets (Right Foot or Left)			12		0							0.000		
		e Change Brackets (Right Foo	,		18		0							0.000		
30.	Forward Inside	Change Brackets (Right Foot	or Left)		18	6	0							0.000		
31.	Forward Outside	e Paragraph Brackets (Right F	oot or Left)		24		0							0.000		
32.	Backward Outsi	de Paragraph Brackets (Right	Foot or Left)		27	9	0							0.000		

		Total Score for Performance										#####
Dec	luctions											0.00
Impairment Compensation (18 x WPI)		18	63.00%		63.00%							11.340
		Factor	WPI	WPI incl ag	ge							
Tot	al Technical Elements			Total judges score for elements 320.00								
		Sum chosen technical:										
42.	Waltz Eight		9	3	0							0.000
41.	Threes to a Centre	Y	12	4	4	6.4	6.6	6.2	6	6	6.8	152.000
40.	Backward Paragraph Loops		27	9	0							0.000
39.	Forward Paragraph Loops		24	8	0							0.000
38.	Backward Change Loops Outside and Right and Left		21	7	0							0.000
37.	Forward Change Loops Outside and Right and Left		18	6	0							0.000
36.	Backward Loops Outside and Inside and Right and Left		15	5	0							0.000
35.	Forward Loops Outside and Inside and Right and Left		12	4	0							0.000
34.	Rockers Outside and Inside and Right and Left		21	7	0							0.000
33.	Counters Outside and Inside and Right and Left		18	6	0							0.000